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B kg kg kg |HEER R EiE il eyl Sl i ]

N3 T\WFEAS itiEE 535 5,350 0 5,350 10. 00 0 0 0 3,024 0 1,728
EH 555 5, 550 0 5, 550

1141 5&E4R EE 9 45 0 45 5.00 0 2, 808 0 864

e 3 30 0 30| 10.00 0 0 0 1, 620 0 1,404
& 12 75 0 75

1201 B rE 150 2,250 0 2, 250 15.00 0 0 0 2, 808 0 1,620
& 150 2, 250 0 2, 250

1203 % v Ry | EH 127 1,270 0 1,270 | 10.00 0 0 0 1,728 0 918

£H 100 1, 500 0 1, 500 15.00 0 0 0 0 1,134 0
& 227 2,770 0 2,770

1204 G/R—JL S 3 30 0 30 10.00 0 0 0 0 1,512 0
(&D 3 30 0 30

1206 5 hAE | EE 45 18 18 0 0.40 0 162 0 0 0 0
Gh 55 58 18 40
1207 5& (&H 992 109 99 10

1209 5% B 21 63 0 63 3.00 0 0 0 2,376 0 1,728
(&h 26 78 0 78

1223 &% EE 90 27 27 0 0.30 0 205 0 0 0 0
& 190 29 27 2

1301 #iF EE 5 30 30 0 6. 00 0 1,458 0 0 0 0

b= 6 12 0 12 2.00 0 0 0 864 0 756

mE 58 290 0 290 5.00 0 0 0 2,160 0 648

B 640 192 0 192 0.30 0 0 0 108 0 97

=240 300 150 0 150 0.50 0 0 0 0 173 0

B4 28 140 0 140 5.00 0 0 0 2,268 0 2,160
Eh 1,041 830 30 800

1321 881 Bz 130 650 0 650 5.00 0 0 0 2, 808 0 2,160
Eh 130 650 0 650

131 EF—=> i 1, 800 270 0 270 0.15 0 0 0 108 0 94

EiE 40 180 0 180 4.50 0 0 0 2, 862 0 2,700
&) 1,840 450 0 450

135544 5 ERZE 40 4 0 4 0.10 0 0 0 0 81 0
(EH 210 21 0 21
1403 5emiE & 2 2 0 2
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1501 HEE BE 113 565- 0 565 5.00 0 0 0 1,944 0 756
(Eh 113 565 0 565
113 A= 42 |dLiEE 510 5,100 0 5, 100 10. 00 0 0 0 1, 836 0 594
(D) 510 5,100 0 5,100
1521 B B 5 50 0 50 10. 00 0 0 0 0 2. 808 0
GEH 5 50 0 50
1603 zJ)L1) — £ 10 100 0 100 10. 00 0 0 0 2, 268 0 1,620
EH 10 100 0 100
1609 Jowvay | EH 15 90 0 90 6.00 0 0 0 4,752 0 3, 888
GED 15 90 0 90
1611 L2 X EH 7 35 0 35 5.00 0 0 1,998 1,728
kR 10 100 0 100 10. 00 0 0 2,214 2,052
EDH 17 135 0 135
16129 =L4R | REH 10 50 0 50 5.00 0 0 0 1, 998 0 1,728
GEhH 10 50 0 50
1627 2=+ b | X3 6 18 0 18 3.00 0 0 0 0 4,644 0
EH 96 36 0 36
1705 + 4= = 1,170 94 0 94 0.08 0 0 43
f=%s]] 3 12 0 12 4.00 0 0 3, 456
EhH 1,173 106 0 106
1803 &£#E EE 650 65 0 65 0.10 174 0 87
EE 90 18 0 18 0.20 0 109 0
GhH 740 83 0 83
1807 8 & =% 150 15 1] 15 0.10 0 0 45 0
% 1,020 204 0 204 0.20 0 70 0 62
Gy 1,170 219 0 219
1809 LH L BH 400 40 0 40 0.10 0 0 0 51 0
£SH 600 90 0 90 0.15 0 0 0 51 0
=E 1,230 246 0 246 0.20 0 92 0 81
(Gp] 2,230 376 0 376
* FEET * 21,651 39, 204 249 38, 955
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2103 BEH DA &) 48 240 0 240
W1 EL & 25 250 0 250 10. 00 0 0 0 0 6, 588 0
€] 53 530 0 530
2315 FKEL | RE 34 170 0 170 5.00 0 0 0 3, 564 0 2,484
&h 34 170 0 170
2421 FREM | AR 4 30 0 30 1.50 0 0 0 0 2,484 0
) 4 30 0 30
2609 B ot 400 140 0 140 0.35 0 0 0 0 659 0
G 400 140 0 140
2611 EA4 —=x |l 176 70 0 70 0.40 0 637 0 367
fE 3 15 0 15 5.00 0 0 7, 560 0
G 179 85 0 85
2616 STXA b+ [ RF 40 14 0 14 0.35 0 0 767 0
R L 128 51 0 51 0.40 0 745 0 583
FE 6 30 0 30 5.00 0 9,180 0 8,100
Gt 174 95 0 95
2821 $RIER EE 60 24 0 24 0.40 583 443
EE 12 43 0 43 0.60 270 216
G 132 67 0 67
* SMERET * 1,972 2,196 0 2,196




